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QUESTION 1

In an HP BYOD solution, what does DHCP fingerprinting provide? 

A. endpoint information 

B. web browser type 

C. SSID of the connection 

D. user account information 

Correct Answer: A 

 

QUESTION 2

Refer to the exhibit. 

Based on the access controller configuration shown in the exhibit, when can newly discovered access points (AP) join
this AC? 

A. An AP can automatically join if the controller recognizes the AP serial number 

B. An AP can automatically join if the controller recognizes the AP IP subnet address 

C. An AP can automatically join if the controller recognizes the AP name 

D. An AP can automatically join if the controller recognizes the AP model type 

Correct Answer: D 

 

QUESTION 3

What is the purpose of Transparent MAC authentication? 

A. to allow endpoints associated with a valid account to register on the BYOD page 
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B. to allow endpoints associated with the Default BYOD user to authenticate transparently 

C. to allow endpoints associated with a valid account to authenticate transparently 

D. to allow endpoints associated with a valid guest account to register on the BYOD page 

Correct Answer: D 

 

QUESTION 4

An organization implements an N+1 redundancy for its access controllers (ACs). When the primary AC fails, the access
points (APs) successfully fail over to the standby AC. However, when the failed AC comes back in to service, the APs
do not switch back to the original AC. 

What could cause this to happen? 

A. AP Connection priority on the primary AC is not set to 1. 

B. APs determine which AC to connect to based on load. 

C. APs do not fail back to the original AC. 

D. AP Connection priority on the primary AC is not set to 7. 

Correct Answer: D 

 

QUESTION 5

What is an attribute of an autonomous AP? 

A. managed through a Web browser or a command line interface 

B. supported on the HP 425 AP 

C. must be powered by a PoE switch 

D. supports layer 2 and layer 3 roaming 

Correct Answer: A 
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